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Example 1 Solve forx: 5x+7=2x-5

Solutions Between 0" and 360° or 0 and 21t

In Degrees In Radians
X=30" or x=150° e 22 or x:sl
6 6

Ex.3 Solve 2sin6-3=0,if0°<8 <360°

Ex.6 Solve 2x*—9x= 5 for x.

Ex. 8 Solve 2sin®8 + 2sin6—1=0, if 0° < 8 <360°.

Name
Example 2  Solve forx: 2sinx—1=0
All solutions (k is an integer)
In Degrees In Radians
X =30° + 360k x:% + 2kn
Or x=150" + 360° or x :5?7[+2k1r

Ex.5 Solve 3sind—2 =7sind, if 0° <0 < 360°

Ex. 7 Solve 2 cos’t—9cost = 5, if 0 < 2r.
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Solve each equation for §if 0° < g < 360°. Do not use a calculator.

1. 2sin6=1 2.2cos 0 =1

4. 2cos0+V3=0 5.2tan9+2=0 6.\/§c0[0—1:0

Solve each equation for 1 if 0 < r < 27. Give all answers as exact values in radi-
ans. Do not use a calculator.

7. 4sinr — N3 = 2sint 8. V3 + 5sint = 3sins 10. 5cost + V12 = cos 1

11. Ssinr+5 = —2sint

Find all solutions in the interval 0° = 6 < 360°. Use a calculator on the last step
and write all answers to the nearest tenth of a degree.

13.4sin6-3=0 14. 4sin6+3 =0 15.2cos 8 — 5 =3cos @ — 2

17.sin 6 — 3 = 5sin 8 18.sinf® —4 = —2sin @

Solve for x, if 0 = x < 2. Write your answers in exact values only.

19. sinxr— Nsinx— 1) =0 20. (cosx — 1)(2cosx — 1) =0 21. tanx(tanx — 1) = 0

23. sinx + 2sinxcosx =0 25. 2sin*x —sinx — 1 =0 26. 2.cos’x +cosx — 1 =0
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27. 2cos 0+ \3)2cos O+ 1) =0  28. 2sin 6 — \3)2sin6— 1) =0

29.\3tan § — 2sinftan 6 = 0 30.tan @ — 2cos ftan 6 = 0

31.2cos2 @+ llcos6= —5 32. 2sin?f — Tsinf=—3

Use the quadratic formula to find all solutions in the interval 0° = 6 < 360° to the
nearest tenth of a degree.

33.2sin’f — 2sinf—1=0 34.2cos’f+2cos 6 —1=0 37.2sin20+ 1 =4sin 6

Write expressions representing all solutions to the equations you solved in the prob-
lems below.

39. Problem 1 41. Problem 7 45. Problem 13

Find all degree solutions to the following equations.

3 V3
47. cos (2A — 50°) = '\{2; 48. sin (2A + 50°) = o 50. cos (3A + 30°) =

| —

: y 1 1
53.sin (54 + 15°) = ‘ﬁ 51. cos (4A — 20°) = i




